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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.
2. Question No. 1 is compulsory.
v 3. Attempt any four questions out of question 2 to 7.
4. Answers may be written in Hindi or English but the same medium should be
followed throughout the paper.
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1. Answer the following questions : (3x5=15)

(i) Is price elasticity of demand constant throughout a downward sloping straight

line demand curve ? Explain.

(i) Do you agree with the following statement ? Explain your reasons.

‘A binding price floor and non binding price ceiling are both greater than the

equilibrium price.’

(i) Why can two indiffererice curves not intersect each other ?

PTO.
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(iv) Is it possible for Marginal Product (MP) to decline when the Average Product
(AP) is rising ? Why or why not ?

(v) The marginal revenue for a profit maximizing monopoly with zero cost
is given by MR = 30 — 2 Q and the demand for its product is given by
P=30 - Q.

Calculate the equilibrium profit of the firm.
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2. () How does the price elasticity of demand for sugar differ between consumer
1 and consumer 2, given that: consumer | does not change the quantity
purchased even after an increase in price, and consumer 2 spends the same

amount on sugar even after an increase in price. )

(i) Two commodities A and B have linear demand curves and identical supply
curves. At equilibrium, price elasticity of demand for commodity A is greater
than that of B however elasticity of supply is the same. If a tax of Rs. t per
unit is imposed on both the commodities, in which case will the burden be

greater on the consumer ? Explain with the help of a diagram. 8)
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(1) In which case will dead weight loss of an equal per unit tax be greater :
(a) relatively inelastic demand and supply curves, or

(b) relatively elastic demand and supply curves. ®)

(1) Why did the OPEC members succeed in increasing the price of oil for a
short period but could not maintain it for a long period ? (7)

(i) fora sraeem § & 9 WeT- R B (Dead weight loss) 3ifer gR i -
(37) SRR |iET W v ofd 9%
(F) FIRR e A g 9fd ah
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AT H ZER W0 W@ A IEHA @ 7

(i) Decompose the change in consumption of good X, which is an inferior
good, into income effect and substitution effect, for an increase in price of
good X. ' 9

(i) A person consumes apples and chips. If his income increases from Rs. 10,000
per month to Rs. 12,000 per month. Show the equilibrium if

(a) both are normal goods and

(b) apples are a normal good and chips are an inferior good. (3+3)

PTO.
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5. (i) Explain the relationship between Marginal Cost (MC), Average variable
cost (AVC) and Average total cost (ATC) in short run with the help of a
diagram. (6)

(i) If the price for a competitive firm falls below the minimum of Average total
cost curve (ATC) in the short run, should the firm shut down and stop

production or should it continue to produce ? (6)

(i) A firm has a choice between two different technologies.

OUTPUT TECHNOLOGY 1 TECHNOLOGY 2

K L K L
500 units 8 units 20 units 12 units 15 units
1000 units 10 units 34 units 13 units 20 units

If the price of K is Rs. 200/unit and L is Rs. 50/unit, which technology
should the producer use for each level of output ? 3)

(i) s ¥ Wg anE (MC) 3tad IRad=sie AR (AVC) T e antd
(ATC) ¥ wvaru 2aiEd Y] (@I 1 a8 & AR o |

(i) afd sreamrer ¥ v ol wfoanlt & & F S =R Siad | 9 9% (ATC)
F AT TR Y 9 B W 8 @ F E R I 98 Y AT oY A Iare
W} @ =feg ?
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afe K & dFa 200 w93 Wi g6E UaH L &l SE 50 @94 ufd g
B W IWEE & IART D UdE T b g BT @ A 1 TEN HET

ey ?

(1) Only one firm produces and sells cricket balls in a country. The following
equations for the monopolist are given :

Demand: P=20-Q

Total Cost: TC =3 + 2Q + 0.5 Q?

Where Q is the quantity per year and P is the Price per unit.

(a) How many cricket balls does the monopolist produce ? At what price
are they sold and what is the monopolist’s profit ?

(b) Does your answer in part (a) change if the monopolist practices perfect

price discrimination ?

(3+4)

(i) Does a monopoly produce the socially efficient level of output ? Explain with

suitable diagram.

@®)

(i) w%ﬁmwﬁﬁ%ﬁﬁmwmﬁmm%wﬁmﬂ%m
- v o i m E

qMA: P=20-Q

HT e TC =3 + 2Q + 0.5Q?
et Q wififer W @ e P v Wi T 2

(31) v fhaei fide AR o Ieare wam 7 A W fRw dwa WS
TG T TR T A fRaen sam 7

P.TO.
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() afe vt Qo Fa fve o1 JaRT R 2 @ @ AW (37) & SR
yRafda g ?

(ii) T THITRIRI TEIRI I AT 61 Jeae- el & 7 IUgad @i g

7. ()

(i)

fad= =i

What is derived demand ? If the demand for readymade garments increases,
show the change in the market for labour engaged in producing readymade

garments. (7)

The migration of labour engaged in the production of computer hardware

was banned between country A and Country B. The wage rate for the said

labour was higher in country A as compared to country B. A new agreement .

between the representatives of the two countries allows labour migration.
Show the changes in the market for labour engaged in the production of

computer hardware in both the countries. )

(i) Www%?u&ﬁﬁgmﬁz&aﬁmmm%a}ﬁﬁgmm

A TR 9 & GO A BN 9l IRadT @t TEisy |

(i) A Ua¥ B oo ¥ ¥ SRAWR & JcaieT A ol S & RAFRY R s 2 1 39

59 o o A9ed W A W A B 3w At g 310w B 1 v W el @ sl
I oW @ AR T sm @ TR w SIS fie S 2 0 A em |
FFEYTT BRAW & IcdeT | HAG S D FI9R A B arol IRacel ol 2qmsy |
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